
egd50−5a

Munsell (Renotation)-Buntheit C = 2 und Helligkeit (Value) V = 1, 5 und 9
in Farbartdiagramm ( x2(F,U), y2(F,U))

y2(F,U) = y2(F)−y2(U)

x=[0,9093−0,0133q2+0,3338p2]/

[2,3587−0,4269q2+0,2754p2]

y=1/[2,3587−0,4269q2+0,2754p2]

x20=1.0, y20=1.0

xc=0.11, Bc=1.0

x2 = x20(x−xc)

y2 = y20y

xU = 0,313

yU = 0,324

YU = 25,30

x2(F,U) = x2(F)−x2(U)
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V x2(F,U) y2(F,U)
1 0.0015 −0.0279
2 0.0008 −0.0158
3 0.001 −0.0093
4 0.0008 −0.0042
5 0.0002 −0.001
6 0.0002 0.0006
7 0.0001 0.0019
8 0.0003 0.003
9 0.0006 0.0041
U 0.0 0.0
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